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Instructions
1. This exam contains 10 problems, each worth 10 points.

2. Please supply all information requested/above and on the mark—sense sheet. In the
space provided for Test number, mark(Version) 01.

3. Work only in the space provided, or on the backside of the pages. Mark your answers
clearly on the scantron. Also circle your choice for each problem in this booklet.

4. No books, notes or calculator, please.
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1. If f(z,y) = 2® + 3zy — y® + y, which of the following statements is true?
A. (1, —1) is a saddle point
B. f(1,-1) is a local minimum
C. f(1,-1) is a local maximum
D. f(1,—1) is an absolute maximum
E

. (1,—1) is not a critical point
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2. Find the maximum of f(z,y) = zy in the region %— +9%2 <1,
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3. Evaluate the integral
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4. A solid in the 15¢ octant is bounded by the surfaces 22 + z? = 9, y = 2z, y = 0, and
z = 0. The volume of the solid is given by
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5. Evaluate the integral
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by converting to polar coordinates.
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6. Interchange the order of integration and then evaluate
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7. Fill in the quantities o and b that convert the triple integral from rectangular

coordinates

8 Let f(z,y) = z%y and let C be the curve 7(t) = e*'1 + sin(—gt)j", 0 <t<1 Then .

[Vf-dif=
c

to spherical coordinates:
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a=0,b=p3sinpcosy
a=m/4,b=p?sinpcos
a=0,b=p?cosp
a=m/4,b=pdsing
a=20,b=pcosyp
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9. Let C be the poygonal path from (0,0) to (2,0), from (2,0) to (2,4) and then back to

(0,0) along y = 2z. Then [ (y* + z)dz + (322 + 2zy) dy =
C

10. If F(z,y,2) = ye %+ e %] + (x+y + z)lg then curlF at (z,y,2) = (0,1,2) i
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